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1. The carrent yield is a less accurale measure ol the yield to maturity the  the
time 1o maturity of the bond and the _ the price is from/to the par value. (5
4\
91)
A) longer; larther 13) longer; closer
C) shorter; closer D) shorter; farther
2. Prices and returns for . bonds are more volalile than those for  bonds.
(541)
A) long-term; long-teeny 13) long-termy; short-term
C) short-term; short-term 17} short-term; long-term
3. When the expected inflation rate increases, the demand lorbonds | the supply
ofbonds  Jand the interestrate . (5 4))
A) increases; increases; rises  3) decreases; decreases; [alls
C) increases; decreases; falls D) decreases; increases; rises
4. When the growth rate of the money supply is increased, interest rates will fall
immediately il the liquidity effectis ~ than the other money supply eftects and
thereis  adjustment of expected inflation. (5 93)
A) larger; fast 13) larger; slow
C) smaller; slow 1)) smaller; {ast

5. All else the same, il a bank has more rate-sensitive labibties than assets, then a(n)

_ininterest rates will — * bank profits. (5 3))
A) decline; not affect 3) increase; reduce
C) decline; reduce D) increase; increase

6. R IFPEE I IRASSNYO) i BB S (2). -*Mifll‘% DI A A8 R - RIGHIL
- ’m]l’ilnﬂllkl|1‘“]f‘jﬁ'*€51]&ﬁ&”“1 ”/ I U\/“lLB HULIA% r) ul’Jn HJ”I HJJ v (25 ﬁJ\)

7. (iR S EA% (linancial crises) g4 IYEIA » ()35 R AR (1 &
Bl B T B YR R (a5 ) 2 (3)9(41 PR s 7 1 A sl SR 5 K )] SR A HE L)
fig o TG L 7 (25497

8. MR aal(Tui 5 43 0 JL254))

(1) FE48) 80 .cmons Problem)
() {EREINIMDuration)

3) fii‘likﬂ"‘ﬂ&(l\/loqcy Multiplier)
(4) AR Taylor Rule)

(5) it Intermediate Target)

—tT



